
?=xhf/df

qm=;+= ljj/0f vr{ lzif{s h]i7 d;fGt ;Ddsf] vr{ )&%.&^ sf] k|:tfj s}lkmot

j8f g+=! tkm{

१ 3f]d'{ cf?vs{ ;8s lj:tf/ sfo{ 1000

२ cf?vs{ nfªj' ;8s lj:tf/ 2000

३ ;f+of]n vf=kf= lgdf{0f 1000

४ yfªbf] vf]kf= lgdf{0f 500

५ u]h]ufª vf=kf= lgdf{0f 500

६ cf?vs{ vf=kf= lgdf{0f 600

७ j|fdfª vf=kf= lgdf{0f 500

८ x'St'ª vf=kf= lgdf{0f 500

९ nfªj' :jf:Yo rf}sL ejg lgdf{0f 500

१० l;ªd]GbL ;fd'bflos :jf:Yo OsfO ejg lgdf{0f 400

११ cf?vs{ k|f=lj= 3]/fjf/ 400

१२ ;fd'bflos cf/0f ejg lgdf{0f 300

hDdf 8200

j8f g+=@ tkm{

१ v]d] vf=kf= lgdf{0f 1000

२ /hfª vf=kf= l;gdf{0f 500

३ 3f]d'{ vf=kf= lgdf{0f 1500

४ bf]Snfª vf=kf= lgdf{0f 500

५ n'r] vf=kf= lgdf{0f 500

६ o'j|f b]lv yfª;fª ;8s lgdf{0f 300

७ bf]Snfª jRrf x'b} jfn' 'Dd ;8s lgdf{0f 1500

८ dfg] kf]tf]n x'b} /hfª ufp bf]Snfª ufp+ ;8s 500

gf}s'08 गाउँ kflnsf

गाउँ sfo{kflnsfsf] sfof{no

;/dynL,/;'jf

cf=j=2075.76 sf] nflu k|:tfljt jh]̂  tyf sfo{s|d



९ j]tfªvf]nf sNe6{ lgdf{0f 500

१० dfg]jf l;Kr'ª jf]+b|f] uf]=jf= lgdf{0f 300

११ gjlhjg k|f=lj= 3]/fjf/ 300

१२ e'd]b]lj k|f=lj=cg'bfg 300

१३ of;f{ x]=kf] 3]/fjf/ lgdf{0f 500

१४ gd:t] 6fj/ ;Grfng 500

hDdf 8700

j8f g+=# tkm{

१ lrnfpg] ufp+ l3r]t kfRof{ª ;8s 1500

२ kf6Lvs{ bg'Zjf/f ;fgf]vf]nf ;8s lgdf{0f 500

३ 5fk8f8f Uofj x'b} nfRof{ª6f/ ;8s lgdf{0f 500

४ nfRof{ª k|f=lj=w]/fjf/ 250

५ 1fgf]bo k|=flj= 3]/fjf/ lgdf{0f 250

६ bKr]Zj/L lgdflj 3]/fjf/ lgdf{0f 500

७ Uofj5fk 8f8f vf=kf= lgdf{0f 1000

८ u'?vf]nf gof j:tL vf=kf= lgdf{0f 500

९ lzj ldGb/ lgdf{0f,kfl6vs{ 500

१० kfRof{ª 9n tyf 8lDkª ;fO6 lgdf{0f 500

११ nfRof{ª ;fd'bflos ejg lgdf{0f 1000

१२ nfd|fª kfl6vs{ jif]{ l;+rfO{ lgdf{0f 1000

hDdf 8000

j8f g+=$ tkm{

१ j8f sfof{noaf6 bg'Zjf/ ef]n]{ ;8s lgdf{0f 2000

२ pkNnf]6f/ eGHofªªfªf x'b} j'Gb|f] ;8s lgdf{0f 1000

३ 9'+u]wf/f vf=kf= dd{t 200

४ lgs'{e'd] df=lj=3]/fjf/ 1000

५ uf}/L z+s/ k|f=lj=3]/fjf/ 300



६ sflnsf b]jL k|f=lj= 3]/fjf/ 300

७ ;fd'bflos ejg dd{t kfl6vs{ 500

८ e'd]Zj/L k|f=lj= 3]/fjf/ 300

९ lgd'{e\dL dlGb/ kf6L lgdf{0f 1000

१० j]yn]hL d08nL rr{ 3]/fjf/ 400

११ yfr]{ u'Daf lgdf{0f 500

hDdf 7500

j8f g+=% tkm{

१ j8x/] ?K;]kfgL ;8s lgdf{0f 1000

२ 6f;L u'Daf lgdf{0f 1200

३ nf] ufp+ ;fd'bflos ejg lgdf{0f 500

४

ef]n] 7'nf]ufp+ k'5f/ tNnf]:jf/f ;fd'bflos ejg 

lgdf{0f 800

५ efu]Zj/L dlGb/ lgdf{0f 500

६ vfNr]t dlxnf ejg lgdf{0f 800

७ ef]n]{ j; kfs{ u'Daf lgdf{0f 500

८ kmnfv'vf]nf d/g3f6 lgdf{0f 300

९ j8x/] l;Dn] l;rfO{ lgdf{0f 800

१० ?K;]kfgL cfDjf; l;+rfO{ lgdf{0f 800

११ j8x/] vf=kf= lgdf{0f 500

१२ ef]n]{ $ 3n] 6f]n vf=kf= lgdf{0f 800

१३ Hjfnfd'vL lgdflj cg'bfg 100

१४ b'Kr]Zj/L k|=flj= cg'bfg 100

१५ j]tfª nfdfr]t l;:g]/L vf=kf= lgdf{0f 500

१६ 7'nf]vf]nf sNe6{ lgdf{0f 600

hDdf 9800

j8f g+=^ tkm{

१ l;:g]/L kfgL3f6 ;8s lgdf{0f 1000



२ dr]tvf]nf l;+rfO{ 700

३ jfn ljsf; s]Gb| jg lgdf{0f 700

४ bf/3f/L :s'n vf=kf= 100

५ 3f]d'{ dr]tvf]nf ;8s 800

६ nfª;f u|fªd|fª ;8s 500

७ 3§]vf]nf d'xfg x'b} j]tfª vf=kf= 500

८ nf]lsn :s'n 3]/fjf/ 300

९ uf];fOs'08 df=lj= cg'bfg 350

१० lsdf/hf]ª dfg] lgdf{0f sfo{ 350

११ 5dsª 8f8f Eo" 6fj/ lgdf{0f 500

१२ ;fd'bflos cf/g ejg lgdf{0f 400

१३

sflnªhf]d 5dsª 3f]d'{ sf]d' bf/3f/L j; kfs{ 

;8s 800

१४ lsdf/hf]ª ofnufª lDnsL gfnL,hfnL Uofljog 500

१५ l;:g]/L le/s'gf 5fk ;8s 500

hDdf 8000

s"n hDdf 50200

१ jf; eGHofª df]6/]jn k'n lgdf{0f 30000

२ j8f g+= ! sfof{no ejg lgdf{0f 4000

३ j8f g+= # sfof{no ejg lgdf{0f 4000

४ j8f g+= $ sfof{no ejg lgdf{0f 4000

५ j8f g+= ^ sfof{no ejg lgdf{0f 4000

६ ;dk\/s sf]if 5000

७

cDjf; b]lv kfRof{ª ;Dd ;8s,gfnL u|fj]n ug]{ 

sfo{ 5000

८ nf]lsn b]lv kfRofª ;8s 5000

९ lsdfhf]{ª b]lv kfRof{ª ;8s lgdf{0f 5000

१० nRofª b]lv kfRof{ª ;8s lgdf{0f 5000



११ ;'sf{lnª u'Daf lgdf{0f 1550

१२ vf=kf=hfnL k'jf{wf/,;8s gfnL ;DaGwL sfo{ 3000

१३

/fli6«o dxTjsf k"jf{wf/,ko{6g, If]qsf] ;DefJotf 

cWoog 1000

१४
lgs'{e'd] ;'?ª Joj:yfkg tyf ko{6g k|j4{g sfo{

500

१५

uf];fOs'08 hfg] kbofqLsf] jf; Joj:yfkg 

cfjf; lgdf{0f sfo{ 1500

१६ ;fd'bflos jg ljsf; tyf j[Iff/f]k0f sfo{ 600

१७ ufp+ kflnsf kfZj{ lrq lgdf{0f sfo{ 1000

१८ v]ns'b tyf o'jf :j/f]huf/,;+:s[lt sfof{s|d 700

१९ gf}s'08 :df6{ kfs{ lgdf{0f 1500

२० ;xsf/L If]q Ifdtf clej[lQ tyf tflnd 500

२१

;/;kmfO sfo{sf nflu krf{ kDkn]6,k|rf/ k|;f/ 

sfo{ 150

२२ kbflwsf/L sd{rf/Lsf] Ifdtf clej[l4 tflnd 200

२३ 6f]n ljsf; ;ldlt u7g sfo{ 230

२४ pBdL k|j4{g sfo{s|d 500

२५ k'ªvf]nf df]6/]j k'n ;e]{If0f sfo{ 500

२६ ofo'ª vf]nf df]6/]jn k'n ;e]{If0f sfo{ 500

२७ ljw't lj:tf/ sfo{ 500

२८ Goflos ;ldlt Joj:yfkg vr{ 700

२९

k"jf{wf/ ljsf;,ejg,vf=kf=kfO{k,hfnL 

k'nk'n];f,l;rfO{ sfo{ 5000

३० jflif{s ;ldIff uf]i7L 216

hDdf 91346

s'n hf]8 hDdf 141546


